If containment is better than aggressive treatment then it is highly desirable to keep the
pathogen density at the acceptable burden. Gains will accrue, however, even if treatment
does not perfectly achieve this target. In particular, for the dynamics described by Equation
(3) of the main text, sensitive pathogen will be advantageous whenever R(t) > %.
In other words, whenever
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Since % — M decreases as the resistant density increases, this range expands as
the resistant density increases, so that as the infection progresses, the total pathogen density
can be lower and gains will still accrue. Thus, from a practical perspective, it is not necessary
to keep the total cell population at precisely the allowable burden. This will make successful

implementation of containment easier.



